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. The fzgures in the margm indicate full marks
for the questzons
| PART-A (3 -&%)
Q. No. 1 (i-vi) carries 1 mark each 1%6 = 6
Q. Nos. 2 (i-wvi) carries 2 marks each A C2x6 =12
Q. Nos. 3-6 cafry 4 marks each ' o 4x4-=16 .
Q. No. 7 carries 6 marks .- 6x1= 6
' L ' ' Total = 40
' PART-B (¥ -9%%)
‘Q. No. 8 (i-wvi) carries 1 mark each - 1x6= 6
Q. Nos. 9 (i~wvi) carries 2 marks each’ 2%x6 = 12
Q. Nos. 10 ~ 13 carry 4 marks each - 4x4=16
. Q. No. 14 carries 6 marks " oexl= 6

, ‘Total = 40
Total (PART A & B): 40 +40=80
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(iii) Write fwo objectives of government budget.
- SIS ST 7oy TR
(iv) Write two differences between reven
v expenditure. - ' . =
SR A SR T4 IR 757 =A<y By |
- OR/9%3t
What is revenue receipt ? How it is different from capita] reCeiPt .
- ez e 52 3 TErEt enfes ot eI 7qde ., .
(v) . What is deficit demand ? Write one cause of deficit defn
/<1 wiftn e 2w bt et Sz |
- OR/&3qt - | o
What are the factors that affect investment demand j SN
WA R st ereifie w11 v @zt ﬁsﬁsg‘m i economy ?
(vi)  Write fwo merits of fixed exchange rate.’ o '
s R 2= ghroffRan B
o | OR/®133f
- Define spot and forward exchange rate.

PR o1 21 i ek 2 sweeat v

Explain thé expenditure method of calcﬁlaﬁng nétional' inéome‘
IS S SR I ATSCH! 0 A | o 3
- OR/=37t

Discuss the circular flow of national income in a

fade SRIoS TSI w1 Sere @IZ SIS 2y

two sector econorn'y

ro . .
Discuss the functions of money. . S | : ,
I BIRGAZ ST 3541 | . L4

There is a plan to increase national income from

< Rs.15 |
crore. If MPC = 0.6, then what should be the change i inggsgi)re to Rs.4000
the goal ? €Ntto achieve

S < SIS SR Rs. 1500 A1 B0 441 Rs 4000 o 4
?ﬁ?@mwmfﬂmm=0-6 =, m@m%?%z%ﬁm
iR g RFCHINT AT 22 S 0 R A R

L]
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e eXpendituré and capital
A TR S Oy R 99 e et ats B

| Rl SR e DRI S 2

S OR/&%dl o o
What is marginal propensity to consume (MPC) and marginal propensity to

save (MPS) ? Show that MPC+MPS=1 \ 1+1+2=4 o
e TS el (MPC) il 2lifSs ey eRersl (MPS) 2 oryedt @
MPC+MPS=11 . . .~ | - ,,
Outline how equilibriilm exchange rate is determined in free market system. |

4

OR/<%qt : T

.Write a note ori ‘balance of payment’.

"SRR T R @fe Gt forart

Discuss the working of investment fnultiplier with example. S 6

OR /13

* Explain diagrammatically how equilibrium level of employment and income

is determined in a two sector economy with the concept of aggregate demand

and aggregate supply. 3 7 A
fae w4ifTe i o1z wie AR R LIV RIS (FCEACI SN &
i fcareE w3 et <l =R Sam e w1 :
PART-B / 4-51z% |
- Answer the following : . - ' ' | R 1x6=6 -
(i) - What is poverty line ?
vif{® St e -

‘(i) ‘Name any two Navaratna industries.

RicIear 75 vy Sewptota =i fordt |- |
(iij) Who is known as the architect of 'economic,planning in'India ?
SIS AL iR Faffel 9 i ot gy
(iv)  What do you understand by jobless growth ?

(v) Name two unconventional sources of energy.
- IR 7B SIS eo At Bt
33T ECON S [51 Contd.
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(m) Which of the following is a cause of ozone layer depletlon ? .
SFH (B! ST B FII 6! A ?
(1) Noise pollution / LR e
() Air pollution / g &7&H
- () Water pollution / & 3{'{3"1‘
(d) None of the above / @I GBS T

- (v Rew R519 39)

Answer the following: T 2x6=12

oo e e Tt ¢
(i)  Write two objectives behind infrastructure development in India by the
British government during Colonial rule.

@WWWWWWWﬁQﬁWW gﬁrm -

G

(i) Write fwo objectives of NITI Aayog

NITI SicaeR 767 Sowps i) -

OR/@%dl
‘Write two factors that nece551tates the mtroductlon of econom1c reform
in India.

WWW}TWW ZWW‘\‘%‘QITI

(iii) Correctly match the two sides of the following table

\

ToR IfereITE T TN SRS WA 8
Country : Rank Based on Human Development Index 2022
™ - ZOZZWWWWW%W,
India/®I¥® ' _ . 79 | |
China/5W - 129

Pakistan/* AT ' 13

Bangladesh/ e . ' 161

(iv) Write the full from of AYUSH -
AYUSH 3 574 Sl fora |
' OR /94!
What do you understand by medical tourism ?
‘it 15’ {%ﬁ 153 ei?

(61

(Choose the correct option)

' 10.

" (v) Writeone positive and oné ﬁegative impact of globalisation in the Indian

economy-. :
oot SdNIfow R (ﬂﬁrwwm aﬁmmwﬁm

(vi) Write two differences between formal and informal sources of rural
: credit. .

mwmw@%mm@meam ga/on@fmn,
Write the features of the Industrial Policy, 1956. o 4.
1956 59 W eT TR ol |
OR/&%4Y
Brleﬂy dISCUSS the problems faced by the Indian agriculture sector in pre-
reform period.

2SI T S R RS mmw\mﬂwwu

11. Discuss four important causes of ] poverty in India. 4
T ORI vREe 515N A PR SIS 591 | '
12. Write a note on condition of health mfrastructure in India. 4
L Wwwﬁ‘mﬁawﬁm a5 (B ot |
. o OR /%134t
wor ?
) 22/':12; ésas comgzcree : \t/;h:i:l t:le causes of low workforce part1c1,pat10n 1ia+t§ -oi
= e wwmw%@wwﬁmmﬁﬁ (RN PR fovalt |
13. Write a comparative note on the contribution of agriculture, industry and
- service sectors to the respective economies of India, China and Palqstan 4
- ORS, 5 SN AT WS ez 7, Wﬂm mwiwmm-
AT GOt SEAIETE (Bt &S 7t |
Briefl d ibe th h NN
riefly describe the path of economi
e P e E%iegg\sggent of China.
" 14. Howishuman develo
' What are the main prfl:f‘ei;l; Z? icfi;tgr;fasl gﬁ:&iﬁﬁﬁfﬁﬁ Cagit;i;
IR TR OIS AT TR el R 1ot 9 4 2 ¢ OIS
SIS AL FIPRTZ 771 | ' ST
OR/ g2
Discuss how agrlcultural activities can be diversified. | |
TGS R B3 e o S ’
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